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MANAGERIAL ECONOMICS (New Course) :
Duration: 2 hours S : ‘ Total Marks 80

- Instructions: 1) All questioris are compulsory, however internal choice is available.

if) Figures to the right indicate marks.
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iv) Answer to questlons 3 t0 6 must be of approxunately 400 words
each.
1. Answer any four of the followmg in approx1mately100 words each. 16
1, Meaning of Marginal Revenue
g2 Conditions for market equilibrium :
iii. Four features of monopolistic completion
iv. Meaning of kinked demand curve
V. What is cost plus pricing?
vi. Sultabxhty of penetration pr1cing
Pl AnSWer any four of the followmg in approx1mately100 words each | bt R

a. Meamng of peak load prmng
b. Define safety margin

¢. Company Cis planning to undertake a project requiring 1mt1a1 1nvestment of Rs. 105 lakhs.
- The project is expected to generate Rs. 25 lakhs per year for.7 years. Calculate the payback
period of the prOJect

d. Meaning of capital budgeting

e. Present ‘vaiue of ﬁ,ltur_c income

f. What is social cost benefit Analysis?
3a. How ﬁrms in a perfectly cor.r‘i‘p;ct‘it‘ivet ndaricét a‘chi‘e‘vesshor't ‘rdn“eq’dilibriur‘h‘ ,(.12 Marks) i

~ 3b. How firms in a monopolistic market achieves equilibrium in the market? Explain the role
of selling cost in the monopolistic market. = (12 Marks) - %

4a. what is price forecasting? What are the factors to be considered in price forecasting?

‘ ‘_» : :‘_(12'Ma‘rks)'

OR

‘4B.Ex"plain break even point. Explain any‘ﬁv‘e managerial uses of break even analysis.



Sa. Explain different methods used in profit forecasting (12 Marks)
OR

5b. Explain various factors affectmg Investment dec1s10n In managerial economics(12 Marks)

6a. What are the different methods used in esnmatmg cost of capital (12 Marks)
OR

6b. A firm sells 400 units at a price Rs. 250, The break even sales is Rs. 87500. Find out the
margin of safety ratio. 5 : (4 Marks)

‘6¢. Given TFC is Rs. 1, 20,000, price Rs. 2. 50 and AVC 157 Rs: 1.50, ﬁnd‘the Break Even
points in units : (4 Marks)

6d. The selling price of a product is Rs. 10 and the unit variable cost is Rs. 2, Find out the
the contribution margin ratio of the product. (4 Marks)



